



ARIZONA DEPARTMENT OF TRANSPORTATION
PROJECT DELIVERY AND OPERATIONS DIVISION
CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2025031

TRACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
180 AP 366 F057701C	180-B-(212)T	103139	APACHE	NORTHEAST	2.9		Yusuf Kadem

Highway Termini	Location	Work Description
-----------------	----------	------------------

- HOLBROOK-SPRINGERVILLE HWY (US-180)
- 24th West To US 191
- Pavement Rehabilitation

BID RESULTS FOR 2025031

Bid Opening Date : 12/19/2025, Prequalification Required, Engineer Specialist : Yusuf Kadem

Completion Date:

120 Working Days

The proposed project is located in Apache County, on US Route 180 and US Route 191 within the City of St. Johns. The project begins at milepost 366.92 on US 180 and proceeds to milepost 368.93 on US 180. The project then runs along US 191 from milepost 315.55 to milepost 315.72. The proposed work includes milling and replacing AC pavement, installing new concrete sidewalks, curbs, gutters, and ADA-compliant ramps, as well as removing and replacing guardrails and relocating catch basins. The work also includes driveway and drainage improvements, signage installation, pavement markings, and other related work.

Project plans, special provisions, and proposal pamphlets, as electronic files, are available free of charge from the Contracts and Specifications website.

Bid Rank	Compared To Department Estimate	Option #	Bid Amount	Contractor	Extended Sum of Items
	+%		\$6,971,897.85	DEPARTMENT ESTIMATE	\$6,971,897.85
1	-11.4%		\$6,174,827.07	W. W. CLYDE & CO. 869 N. 1500 W. Orem, UT 84057-	\$6,174,827.07
2	-9.9%		\$6,285,000.00	FANN CONTRACTING, INC PO BOX 4356 PRESCOTT, AZ 86302-	\$6,285,000.00
3	-1.9%		\$6,840,846.98	SUNLAND ASPHALT & CONSTRUCTION LLC 1625 E. NORTHERN AVENUE PHOENIX, AZ 85020-	\$6,840,846.98
4	+22.6%		\$8,546,097.00	GRANITE CONSTRUCTION COMPANY 4115 E ILLINOIS ST TUCSON, AZ 85714-	\$8,546,097.00

Winning Bidder is 11.4% Under Department Estimate (Difference = (\$797,070.78))

*** Bid Tabs for Proposal Pamphlet 2025031 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020021	L.FT.	REMOVAL OF CONCRETE CURB AND GUTTER				
Bid Rank	Department Estimate		5,315.000	\$18.000	\$95,670.00	
1	W. W. CLYDE & CO.			\$23.380	\$124,264.70	+29.9%
2	FANN CONTRACTING, INC			\$11.000	\$58,465.00	-38.9%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$20.000	\$106,300.00	+11.1%
4	GRANITE CONSTRUCTION COMPANY			\$43.000	\$228,545.00	+138.9%
2020025	SQ.FT.	REMOVAL OF CONCRETE SIDEWALKS, DRIVEWAYS AND SLABS				
Bid Rank	Department Estimate		37,924.000	\$7.000	\$265,468.00	
1	W. W. CLYDE & CO.			\$1.350	\$51,197.40	-80.7%
2	FANN CONTRACTING, INC			\$3.000	\$113,772.00	-57.1%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$6.000	\$227,544.00	-14.3%
4	GRANITE CONSTRUCTION COMPANY			\$10.000	\$379,240.00	+42.9%
2020036	SQ.YD.	REMOVAL OF ASPHALTIC CONCRETE PAVEMENT				
Bid Rank	Department Estimate		5,586.000	\$22.000	\$122,892.00	
1	W. W. CLYDE & CO.			\$25.010	\$139,705.86	+13.7%
2	FANN CONTRACTING, INC			\$22.000	\$122,892.00	+0.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$19.000	\$106,134.00	-13.6%
4	GRANITE CONSTRUCTION COMPANY			\$51.000	\$284,886.00	+131.8%
2020047	EACH	REMOVAL OF SIGNS				
Bid Rank	Department Estimate		20.000	\$350.000	\$7,000.00	
1	W. W. CLYDE & CO.			\$241.790	\$4,835.80	-30.9%
2	FANN CONTRACTING, INC			\$220.000	\$4,400.00	-37.1%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$205.000	\$4,100.00	-41.4%
4	GRANITE CONSTRUCTION COMPANY			\$220.000	\$4,400.00	-37.1%
2020050	L.SUM	REMOVE (PRIVATE COMMERCIAL SIGN)				
Bid Rank	Department Estimate		1.000	\$3,500.000	\$3,500.00	
1	W. W. CLYDE & CO.			\$6,498.250	\$6,498.25	+85.7%
2	FANN CONTRACTING, INC			\$9,500.000	\$9,500.00	+171.4%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$6,000.000	\$6,000.00	+71.4%
4	GRANITE CONSTRUCTION COMPANY			\$7,500.000	\$7,500.00	+114.3%
2020053	EACH	REMOVE (W-BEAM TRANSITION)				
Bid Rank	Department Estimate		2.000	\$1,200.000	\$2,400.00	
1	W. W. CLYDE & CO.			\$514.550	\$1,029.10	-57.1%
2	FANN CONTRACTING, INC			\$500.000	\$1,000.00	-58.3%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$460.000	\$920.00	-61.7%
4	GRANITE CONSTRUCTION COMPANY			\$510.000	\$1,020.00	-57.5%
2020054	EACH	REMOVE (GUARD RAIL END TERMINAL)				
Bid Rank	Department Estimate		2.000	\$1,300.000	\$2,600.00	
1	W. W. CLYDE & CO.			\$514.550	\$1,029.10	-60.4%

*** Bid Tabs for Proposal Pamphlet 2025031 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020054	EACH	REMOVE (GUARD RAIL END TERMINAL)				
Bid Rank	Department Estimate		2.000	\$1,300.000	\$2,600.00	
1	FANN CONTRACTING, INC			\$500.000	\$1,000.00	-61.5%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$460.000	\$920.00	-64.6%
4	GRANITE CONSTRUCTION COMPANY			\$510.000	\$1,020.00	-60.8%
2020071	L.FT.	REMOVE GUARD RAIL				
Bid Rank	Department Estimate		275.000	\$25.000	\$6,875.00	
1	W. W. CLYDE & CO.			\$12.860	\$3,536.50	-48.6%
2	FANN CONTRACTING, INC			\$13.000	\$3,575.00	-48.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$11.000	\$3,025.00	-56.0%
4	GRANITE CONSTRUCTION COMPANY			\$13.000	\$3,575.00	-48.0%
2020078	SQ.YD.	REMOVE BITUMINOUS PAVEMENT FROM PCC (MILLING)				
Bid Rank	Department Estimate		700.000	\$20.000	\$14,000.00	
1	W. W. CLYDE & CO.			\$21.690	\$15,183.00	+8.5%
2	FANN CONTRACTING, INC			\$22.000	\$15,400.00	+10.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$14.750	\$10,325.00	-26.3%
4	GRANITE CONSTRUCTION COMPANY			\$9.450	\$6,615.00	-52.8%
2020079	SQ.YD.	REMOVE BITUMINOUS PAVEMENT (MILLING) (AC OVERLAY FROM EXIST CURB AND GUTTER)				
Bid Rank	Department Estimate		797.000	\$10.000	\$7,970.00	
1	W. W. CLYDE & CO.			\$33.150	\$26,420.55	+231.5%
2	FANN CONTRACTING, INC			\$22.000	\$17,534.00	+120.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$11.000	\$8,767.00	+10.0%
4	GRANITE CONSTRUCTION COMPANY			\$12.350	\$9,842.95	+23.5%
2020085	SQ.YD.	REMOVE BITUMINOUS PAVEMENT (MILLING) (3")				
Bid Rank	Department Estimate		14,701.000	\$3.500	\$51,453.50	
1	W. W. CLYDE & CO.			\$4.250	\$62,479.25	+21.4%
2	FANN CONTRACTING, INC			\$5.000	\$73,505.00	+42.9%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$4.000	\$58,804.00	+14.3%
4	GRANITE CONSTRUCTION COMPANY			\$5.610	\$82,472.61	+60.3%
2020087	SQ.YD.	REMOVE BITUMINOUS PAVEMENT (MILLING) (4")				
Bid Rank	Department Estimate		42,769.000	\$4.500	\$192,460.50	
1	W. W. CLYDE & CO.			\$4.750	\$203,152.75	+5.6%
2	FANN CONTRACTING, INC			\$6.500	\$277,998.50	+44.4%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$6.000	\$256,614.00	+33.3%
4	GRANITE CONSTRUCTION COMPANY			\$7.840	\$335,308.96	+74.2%
2020088	SQ.YD.	REMOVE BITUMINOUS PAVEMENT (MILLING) (4 1/2" TO 6")				
Bid Rank	Department Estimate		16,274.000	\$5.000	\$81,370.00	
1	W. W. CLYDE & CO.			\$5.130	\$83,485.62	+2.6%
2	FANN CONTRACTING, INC			\$8.000	\$130,192.00	+60.0%

*** Bid Tabs for Proposal Pamphlet 2025031 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020088	SQ.YD.	REMOVE BITUMINOUS PAVEMENT (MILLING) (4 1/2" TO 6")				
Bid Rank	Department Estimate		16,274.000	\$5.000	\$81,370.00	
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$6.250	\$101,712.50	+25.0%
4	GRANITE CONSTRUCTION COMPANY			\$9.670	\$157,369.58	+93.4%
2020115	EACH	REMOVE (BOLLARD)				
Bid Rank	Department Estimate		2.000	\$650.000	\$1,300.00	
1	W. W. CLYDE & CO.			\$179.540	\$359.08	-72.4%
2	FANN CONTRACTING, INC			\$1,000.000	\$2,000.00	+53.8%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$550.000	\$1,100.00	-15.4%
4	GRANITE CONSTRUCTION COMPANY			\$300.000	\$600.00	-53.8%
2020155	EACH	REMOVE (CATCH BASIN)				
Bid Rank	Department Estimate		5.000	\$1,000.000	\$5,000.00	
1	W. W. CLYDE & CO.			\$1,848.040	\$9,240.20	+84.8%
2	FANN CONTRACTING, INC			\$2,500.000	\$12,500.00	+150.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$5,000.000	\$25,000.00	+400.0%
4	GRANITE CONSTRUCTION COMPANY			\$6,000.000	\$30,000.00	+500.0%
2020168	SQ.FT.	REMOVE (MISCELLANEOUS CONCRETE, 6 INCH)				
Bid Rank	Department Estimate		800.000	\$10.000	\$8,000.00	
1	W. W. CLYDE & CO.			\$2.760	\$2,208.00	-72.4%
2	FANN CONTRACTING, INC			\$7.000	\$5,600.00	-30.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$15.250	\$12,200.00	+52.5%
4	GRANITE CONSTRUCTION COMPANY			\$11.000	\$8,800.00	+10.0%
2030112	L.FT.	SHOULDER BUILD-UP (MILLED AC)				
Bid Rank	Department Estimate		6,340.000	\$0.750	\$4,755.00	
1	W. W. CLYDE & CO.			\$7.850	\$49,769.00	+946.7%
2	FANN CONTRACTING, INC			\$2.000	\$12,680.00	+166.7%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.850	\$5,389.00	+13.3%
4	GRANITE CONSTRUCTION COMPANY			\$1.300	\$8,242.00	+73.3%
2030113	HOUR	SHOULDER BUILD-UP (COMPACTION)				
Bid Rank	Department Estimate		3.000	\$200.000	\$600.00	
1	W. W. CLYDE & CO.			\$314.770	\$944.31	+57.4%
2	FANN CONTRACTING, INC			\$250.000	\$750.00	+25.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$135.000	\$405.00	-32.5%
4	GRANITE CONSTRUCTION COMPANY			\$200.000	\$600.00	+0.0%
3030021	CU.YD.	AGGREGATE BASE, CLASS 1				
Bid Rank	Department Estimate		670.000	\$225.000	\$150,750.00	
1	W. W. CLYDE & CO.			\$102.850	\$68,909.50	-54.3%
2	FANN CONTRACTING, INC			\$115.000	\$77,050.00	-48.9%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$280.000	\$187,600.00	+24.4%

*** Bid Tabs for Proposal Pamphlet 2025031 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
3030021	CU.YD.	AGGREGATE BASE, CLASS 1				
Bid Rank	Department Estimate		670.000	\$225.000	\$150,750.00	
4	GRANITE CONSTRUCTION COMPANY			\$390.000	\$261,300.00	+73.3%
4040111	TON	BITUMINOUS TACK COAT				
Bid Rank	Department Estimate		38.000	\$900.000	\$34,200.00	
1	W. W. CLYDE & CO.			\$533.980	\$20,291.24	-40.7%
2	FANN CONTRACTING, INC			\$650.000	\$24,700.00	-27.8%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$660.000	\$25,080.00	-26.7%
4	GRANITE CONSTRUCTION COMPANY			\$700.000	\$26,600.00	-22.2%
4040116	HOUR	APPLY BITUMINOUS TACK COAT				
Bid Rank	Department Estimate		72.000	\$200.000	\$14,400.00	
1	W. W. CLYDE & CO.			\$159.220	\$11,463.84	-20.4%
2	FANN CONTRACTING, INC			\$300.000	\$21,600.00	+50.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$180.000	\$12,960.00	-10.0%
4	GRANITE CONSTRUCTION COMPANY			\$205.000	\$14,760.00	+2.5%
4040125	TON	FOG COAT				
Bid Rank	Department Estimate		20.000	\$1,250.000	\$25,000.00	
1	W. W. CLYDE & CO.			\$698.780	\$13,975.60	-44.1%
2	FANN CONTRACTING, INC			\$1,100.000	\$22,000.00	-12.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$1,180.000	\$23,600.00	-5.6%
4	GRANITE CONSTRUCTION COMPANY			\$1,065.000	\$21,300.00	-14.8%
4040165	SQ.YD.	BLOTTER MATERIAL				
Bid Rank	Department Estimate		139,481.000	\$0.250	\$34,870.25	
1	W. W. CLYDE & CO.			\$0.010	\$1,394.81	-96.0%
2	FANN CONTRACTING, INC			\$0.100	\$13,948.10	-60.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.080	\$11,158.48	-68.0%
4	GRANITE CONSTRUCTION COMPANY			\$0.130	\$18,132.53	-48.0%
4040230	TON	ASPHALT BINDER (PG 70-28 PM)				
Bid Rank	Department Estimate		865.000	\$900.000	\$778,500.00	
1	W. W. CLYDE & CO.			\$814.850	\$704,845.25	-9.5%
2	FANN CONTRACTING, INC			\$720.000	\$622,800.00	-20.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$750.000	\$648,750.00	-16.7%
4	GRANITE CONSTRUCTION COMPANY			\$805.000	\$696,325.00	-10.6%
4040415	L.FT.	STRESS ABSORBING MEMBRANE INTERLAYER FABRIC				
Bid Rank	Department Estimate		1,792.000	\$9.000	\$16,128.00	
1	W. W. CLYDE & CO.			\$17.140	\$30,714.88	+90.4%
2	FANN CONTRACTING, INC			\$15.000	\$26,880.00	+66.7%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$14.000	\$25,088.00	+55.6%
4	GRANITE CONSTRUCTION COMPANY			\$5.500	\$9,856.00	-38.9%

*** Bid Tabs for Proposal Pamphlet 2025031 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
4090003	TON	ASPHALTIC CONCRETE (MISCELLANEOUS STRUCTURAL)				
Bid Rank	Department Estimate		1,861.000	\$200.000	\$372,200.00	
1	W. W. CLYDE & CO.			\$281.870	\$524,560.07	+40.9%
2	FANN CONTRACTING, INC			\$190.000	\$353,590.00	-5.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$310.000	\$576,910.00	+55.0%
4	GRANITE CONSTRUCTION COMPANY			\$250.000	\$465,250.00	+25.0%
4090006	TON	ASPHALTIC CONCRETE (MISCELLANEOUS STRUCTURAL) (SPECIAL MIX)				
Bid Rank	Department Estimate		77.000	\$300.000	\$23,100.00	
1	W. W. CLYDE & CO.			\$405.960	\$31,258.92	+35.3%
2	FANN CONTRACTING, INC			\$190.000	\$14,630.00	-36.7%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$300.000	\$23,100.00	+0.0%
4	GRANITE CONSTRUCTION COMPANY			\$650.000	\$50,050.00	+116.7%
4160004	TON	ASPHALTIC CONCRETE (3/4" MIX) (END PRODUCT) (SPECIAL MIX)				
Bid Rank	Department Estimate		17,290.000	\$120.000	\$2,074,800.00	
1	W. W. CLYDE & CO.			\$98.660	\$1,705,831.40	-17.8%
2	FANN CONTRACTING, INC			\$80.000	\$1,383,200.00	-33.3%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$90.000	\$1,556,100.00	-25.0%
4	GRANITE CONSTRUCTION COMPANY			\$88.000	\$1,521,520.00	-26.7%
4160031	TON	MINERAL ADMIXTURE				
Bid Rank	Department Estimate		164.000	\$90.000	\$14,760.00	
1	W. W. CLYDE & CO.			\$90.000	\$14,760.00	+0.0%
2	FANN CONTRACTING, INC			\$90.000	\$14,760.00	+0.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$90.000	\$14,760.00	+0.0%
4	GRANITE CONSTRUCTION COMPANY			\$90.000	\$14,760.00	+0.0%
5012592	EACH	STORM DRAIN PIPE (PIPE COLLAR C-13.80)				
Bid Rank	Department Estimate		4.000	\$1,000.000	\$4,000.00	
1	W. W. CLYDE & CO.			\$5,313.290	\$21,253.16	+431.3%
2	FANN CONTRACTING, INC			\$1,300.000	\$5,200.00	+30.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$2,500.000	\$10,000.00	+150.0%
4	GRANITE CONSTRUCTION COMPANY			\$4,000.000	\$16,000.00	+300.0%
5030001	EACH	CONCRETE CATCH BASIN (C-15.10) SINGLE, H=8' OR LESS				
Bid Rank	Department Estimate		4.000	\$20,000.000	\$80,000.00	
1	W. W. CLYDE & CO.			\$24,293.070	\$97,172.28	+21.5%
2	FANN CONTRACTING, INC			\$12,000.000	\$48,000.00	-40.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$12,500.000	\$50,000.00	-37.5%
4	GRANITE CONSTRUCTION COMPANY			\$21,000.000	\$84,000.00	+5.0%
5030401	EACH	CONCRETE APRON FOR CATCH BASIN				
Bid Rank	Department Estimate		2.000	\$7,500.000	\$15,000.00	
1	W. W. CLYDE & CO.			\$5,410.870	\$10,821.74	-27.9%

*** Bid Tabs for Proposal Pamphlet 2025031 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
5030401	EACH	CONCRETE APRON FOR CATCH BASIN				
Bid Rank	Department Estimate		2.000	\$7,500.000	\$15,000.00	
1	W. W. CLYDE & CO.			\$6,500.000	\$13,000.00	-13.3%
2	FANN CONTRACTING, INC			\$2,000.000	\$4,000.00	-73.3%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$5,000.000	\$10,000.00	-33.3%
4	GRANITE CONSTRUCTION COMPANY					
5050101	EACH	FRAME AND COVER FOR MANHOLE				
Bid Rank	Department Estimate		1.000	\$5,000.000	\$5,000.00	
1	W. W. CLYDE & CO.			\$4,071.280	\$4,071.28	-18.6%
2	FANN CONTRACTING, INC			\$2,700.000	\$2,700.00	-46.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$1,100.000	\$1,100.00	-78.0%
4	GRANITE CONSTRUCTION COMPANY			\$3,500.000	\$3,500.00	-30.0%
5050201	EACH	RESET FRAME AND COVER FOR MANHOLE				
Bid Rank	Department Estimate		7.000	\$1,500.000	\$10,500.00	
1	W. W. CLYDE & CO.			\$2,237.400	\$15,661.80	+49.2%
2	FANN CONTRACTING, INC			\$1,400.000	\$9,800.00	-6.7%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$1,100.000	\$7,700.00	-26.7%
4	GRANITE CONSTRUCTION COMPANY			\$2,150.000	\$15,050.00	+43.3%
6070038	EACH	SLIP BASE				
Bid Rank	Department Estimate		5.000	\$400.000	\$2,000.00	
1	W. W. CLYDE & CO.			\$418.070	\$2,090.35	+4.5%
2	FANN CONTRACTING, INC			\$400.000	\$2,000.00	+0.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$375.000	\$1,875.00	-6.3%
4	GRANITE CONSTRUCTION COMPANY			\$356.000	\$1,780.00	-11.0%
6070048	EACH	FOUNDATION FOR SQUARE TUBE POST				
Bid Rank	Department Estimate		4.000	\$750.000	\$3,000.00	
1	W. W. CLYDE & CO.			\$308.730	\$1,234.92	-58.8%
2	FANN CONTRACTING, INC			\$300.000	\$1,200.00	-60.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$300.000	\$1,200.00	-60.0%
4	GRANITE CONSTRUCTION COMPANY			\$263.000	\$1,052.00	-64.9%
6070057	L.FT.	SIGN POST (PERFORATED) (2 1/2 T)				
Bid Rank	Department Estimate		54.000	\$30.000	\$1,620.00	
1	W. W. CLYDE & CO.			\$45.020	\$2,431.08	+50.1%
2	FANN CONTRACTING, INC			\$45.000	\$2,430.00	+50.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$40.000	\$2,160.00	+33.3%
4	GRANITE CONSTRUCTION COMPANY			\$39.000	\$2,106.00	+30.0%
6080005	SQ.FT.	REGULATORY, WARNING, OR MARKER SIGN PANEL				
Bid Rank	Department Estimate		42.000	\$40.000	\$1,680.00	
1	W. W. CLYDE & CO.			\$51.460	\$2,161.32	+28.7%
2	FANN CONTRACTING, INC			\$50.000	\$2,100.00	+25.0%

*** Bid Tabs for Proposal Pamphlet 2025031 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
6080005	SQ.FT.	REGULATORY, WARNING, OR MARKER SIGN PANEL				
Bid Rank	Department Estimate		42.000	\$40.000	\$1,680.00	
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$45.000	\$1,890.00	+12.5%
4	GRANITE CONSTRUCTION COMPANY			\$44.000	\$1,848.00	+10.0%
7015010	L.FT.	TEMPORARY CONCRETE BARRIER (INSTALLATION AND REMOVAL)				
Bid Rank	Department Estimate		250.000	\$60.000	\$15,000.00	
1	W. W. CLYDE & CO.			\$102.910	\$25,727.50	+71.5%
2	FANN CONTRACTING, INC			\$62.000	\$15,500.00	+3.3%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$55.000	\$13,750.00	-8.3%
4	GRANITE CONSTRUCTION COMPANY			\$60.000	\$15,000.00	+0.0%
7015020	EACH	TEMPORARY IMPACT ATTENUATORS (INSTALLATION AND REMOVAL)				
Bid Rank	Department Estimate		1.000	\$5,000.000	\$5,000.00	
1	W. W. CLYDE & CO.			\$1,286.380	\$1,286.38	-74.3%
2	FANN CONTRACTING, INC			\$5,000.000	\$5,000.00	+0.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$4,600.000	\$4,600.00	-8.0%
4	GRANITE CONSTRUCTION COMPANY			\$4,800.000	\$4,800.00	-4.0%
7016020	L.FT.-DAY	TEMPORARY CONCRETE BARRIER (IN USE)				
Bid Rank	Department Estimate		5,000.000	\$0.500	\$2,500.00	
1	W. W. CLYDE & CO.			\$0.190	\$950.00	-62.0%
2	FANN CONTRACTING, INC			\$1.000	\$5,000.00	+100.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.500	\$2,500.00	+0.0%
4	GRANITE CONSTRUCTION COMPANY			\$0.600	\$3,000.00	+20.0%
7016021	EACH-DAY	TEMPORARY IMPACT ATTENUATORS (IN USE)				
Bid Rank	Department Estimate		20.000	\$50.000	\$1,000.00	
1	W. W. CLYDE & CO.			\$59.400	\$1,188.00	+18.8%
2	FANN CONTRACTING, INC			\$62.000	\$1,240.00	+24.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$55.000	\$1,100.00	+10.0%
4	GRANITE CONSTRUCTION COMPANY			\$60.000	\$1,200.00	+20.0%
7016030	EACH-DAY	BARRICADE (TYPE 1, TYPE 2, VERT.PANEL, TUBULAR MARKER)				
Bid Rank	Department Estimate		12,750.000	\$0.700	\$8,925.00	
1	W. W. CLYDE & CO.			\$0.260	\$3,315.00	-62.9%
2	FANN CONTRACTING, INC			\$0.250	\$3,187.50	-64.3%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.230	\$2,932.50	-67.1%
4	GRANITE CONSTRUCTION COMPANY			\$0.430	\$5,482.50	-38.6%
7016031	EACH-DAY	BARRICADE (TYPE 3, HIGH LEVEL FLAG TREE)				
Bid Rank	Department Estimate		1,503.000	\$1.500	\$2,254.50	
1	W. W. CLYDE & CO.			\$0.960	\$1,442.88	-36.0%
2	FANN CONTRACTING, INC			\$1.000	\$1,503.00	-33.3%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.870	\$1,307.61	-42.0%

*** Bid Tabs for Proposal Pamphlet 2025031 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016031	EACH-DAY	BARRICADE (TYPE 3, HIGH LEVEL FLAG TREE)				
Bid Rank	Department Estimate		1,503.000	\$1.500	\$2,254.50	
4	GRANITE CONSTRUCTION COMPANY			\$1.060	\$1,593.18	-29.3%
7016033	EACH-DAY	PORTABLE SIGN STAND (SPRING TYPE)				
Bid Rank	Department Estimate		4,800.000	\$0.900	\$4,320.00	
1	W. W. CLYDE & CO.			\$0.960	\$4,608.00	+6.7%
2	FANN CONTRACTING, INC			\$1.000	\$4,800.00	+11.1%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.870	\$4,176.00	-3.3%
4	GRANITE CONSTRUCTION COMPANY			\$2.130	\$10,224.00	+136.7%
7016035	EACH-DAY	WARNING LIGHT (TYPE A)				
Bid Rank	Department Estimate		6,680.000	\$0.200	\$1,336.00	
1	W. W. CLYDE & CO.			\$0.130	\$868.40	-35.0%
2	FANN CONTRACTING, INC			\$0.150	\$1,002.00	-25.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.120	\$801.60	-40.0%
4	GRANITE CONSTRUCTION COMPANY			\$0.430	\$2,872.40	+115.0%
7016050	EACH-DAY	TRUCK-MOUNTED ATTENUATOR				
Bid Rank	Department Estimate		144.000	\$800.000	\$115,200.00	
1	W. W. CLYDE & CO.			\$418.070	\$60,202.08	-47.7%
2	FANN CONTRACTING, INC			\$980.000	\$141,120.00	+22.5%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$375.260	\$54,037.44	-53.1%
4	GRANITE CONSTRUCTION COMPANY			\$1,205.000	\$173,520.00	+50.6%
7016051	EACH-DAY	TEMPORARY SIGN (LESS THAN 10 S.F.)				
Bid Rank	Department Estimate		324.000	\$0.850	\$275.40	
1	W. W. CLYDE & CO.			\$0.710	\$230.04	-16.5%
2	FANN CONTRACTING, INC			\$1.000	\$324.00	+17.6%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.640	\$207.36	-24.7%
4	GRANITE CONSTRUCTION COMPANY			\$0.710	\$230.04	-16.5%
7016052	EACH-DAY	TEMPORARY SIGN (10 S.F. OR MORE)				
Bid Rank	Department Estimate		6,030.000	\$0.700	\$4,221.00	
1	W. W. CLYDE & CO.			\$0.960	\$5,788.80	+37.1%
2	FANN CONTRACTING, INC			\$1.000	\$6,030.00	+42.9%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.870	\$5,246.10	+24.3%
4	GRANITE CONSTRUCTION COMPANY			\$0.710	\$4,281.30	+1.4%
7016061	EACH-DAY	FLASHING ARROW PANEL				
Bid Rank	Department Estimate		69.000	\$50.000	\$3,450.00	
1	W. W. CLYDE & CO.			\$25.730	\$1,775.37	-48.5%
2	FANN CONTRACTING, INC			\$25.000	\$1,725.00	-50.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$23.090	\$1,593.21	-53.8%
4	GRANITE CONSTRUCTION COMPANY			\$25.000	\$1,725.00	-50.0%

*** Bid Tabs for Proposal Pamphlet 2025031 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016075	HOUR	FLAGGING SERVICES (CIVILIAN)				
Bid Rank	Department Estimate		272.000	\$55.000	\$14,960.00	
1	W. W. CLYDE & CO.			\$78.470	\$21,343.84	+42.7%
2	FANN CONTRACTING, INC			\$80.000	\$21,760.00	+45.5%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$75.050	\$20,413.60	+36.5%
4	GRANITE CONSTRUCTION COMPANY			\$55.000	\$14,960.00	+0.0%
7030026	EACH	DELINERATOR ASSEMBLY (FLEXIBLE) (CONCRETE FOUNDATION)				
Bid Rank	Department Estimate		20.000	\$250.000	\$5,000.00	
1	W. W. CLYDE & CO.			\$225.120	\$4,502.40	-10.0%
2	FANN CONTRACTING, INC			\$220.000	\$4,400.00	-12.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$200.000	\$4,000.00	-20.0%
4	GRANITE CONSTRUCTION COMPANY			\$192.000	\$3,840.00	-23.2%
7080201	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (WHITE)				
Bid Rank	Department Estimate		14,861.000	\$0.200	\$2,972.20	
1	W. W. CLYDE & CO.			\$0.320	\$4,755.52	+60.0%
2	FANN CONTRACTING, INC			\$0.300	\$4,458.30	+50.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.250	\$3,715.25	+25.0%
4	GRANITE CONSTRUCTION COMPANY			\$0.270	\$4,012.47	+35.0%
7080202	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (YELLOW)				
Bid Rank	Department Estimate		34,570.000	\$0.250	\$8,642.50	
1	W. W. CLYDE & CO.			\$0.320	\$11,062.40	+28.0%
2	FANN CONTRACTING, INC			\$0.300	\$10,371.00	+20.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.250	\$8,642.50	+0.0%
4	GRANITE CONSTRUCTION COMPANY			\$0.270	\$9,333.90	+8.0%
7080206	EACH	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED SYMBOL) (ARROW)				
Bid Rank	Department Estimate		11.000	\$100.000	\$1,100.00	
1	W. W. CLYDE & CO.			\$96.480	\$1,061.28	-3.5%
2	FANN CONTRACTING, INC			\$95.000	\$1,045.00	-5.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$85.000	\$935.00	-15.0%
4	GRANITE CONSTRUCTION COMPANY			\$82.000	\$902.00	-18.0%
7080208	EACH	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED LEGEND) (ONLY)				
Bid Rank	Department Estimate		5.000	\$90.000	\$450.00	
1	W. W. CLYDE & CO.			\$96.480	\$482.40	+7.2%
2	FANN CONTRACTING, INC			\$95.000	\$475.00	+5.6%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$85.000	\$425.00	-5.6%
4	GRANITE CONSTRUCTION COMPANY			\$82.000	\$410.00	-8.9%
7090001	L.FT.	DUAL COMPONENT PAVEMENT MARKING (WHITE EPOXY)				
Bid Rank	Department Estimate		14,861.000	\$0.750	\$11,145.75	
1	W. W. CLYDE & CO.			\$1.100	\$16,347.10	+46.7%

*** Bid Tabs for Proposal Pamphlet 2025031 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7090001	L.FT.	DUAL COMPONENT PAVEMENT MARKING (WHITE EPOXY)				
Bid Rank	Department Estimate		14,861.000	\$0.750	\$11,145.75	
2	FANN CONTRACTING, INC			\$0.700	\$10,402.70	-6.7%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.600	\$8,916.60	-20.0%
4	GRANITE CONSTRUCTION COMPANY			\$0.600	\$8,916.60	-20.0%
7090002	L.FT.	DUAL COMPONENT PAVEMENT MARKING (YELLOW EPOXY)				
Bid Rank	Department Estimate		34,570.000	\$0.750	\$25,927.50	
1	W. W. CLYDE & CO.			\$1.050	\$36,298.50	+40.0%
2	FANN CONTRACTING, INC			\$0.700	\$24,199.00	-6.7%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.600	\$20,742.00	-20.0%
4	GRANITE CONSTRUCTION COMPANY			\$0.600	\$20,742.00	-20.0%
7090010	EACH	DUAL COMPONENT PAVEMENT LEGEND				
Bid Rank	Department Estimate		5.000	\$250.000	\$1,250.00	
1	W. W. CLYDE & CO.			\$289.440	\$1,447.20	+15.8%
2	FANN CONTRACTING, INC			\$280.000	\$1,400.00	+12.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$250.000	\$1,250.00	+0.0%
4	GRANITE CONSTRUCTION COMPANY			\$250.000	\$1,250.00	+0.0%
7090012	EACH	DUAL COMPONENT PAVEMENT SYMBOL				
Bid Rank	Department Estimate		11.000	\$260.000	\$2,860.00	
1	W. W. CLYDE & CO.			\$289.440	\$3,183.84	+11.3%
2	FANN CONTRACTING, INC			\$280.000	\$3,080.00	+7.7%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$250.000	\$2,750.00	-3.8%
4	GRANITE CONSTRUCTION COMPANY			\$250.000	\$2,750.00	-3.8%
7350006	EACH	LOOP DETECTOR (COUNTER) (FULL REPLACEMENT)				
Bid Rank	Department Estimate		1.000	\$15,000.000	\$15,000.00	
1	W. W. CLYDE & CO.			\$5,788.720	\$5,788.72	-61.4%
2	FANN CONTRACTING, INC			\$9,100.000	\$9,100.00	-39.3%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$7,400.000	\$7,400.00	-50.7%
4	GRANITE CONSTRUCTION COMPANY			\$8,024.000	\$8,024.00	-46.5%
8030092	SQ.YD.	GRANITE MULCH (1-1/4 INCH MINUS)				
Bid Rank	Department Estimate		1,475.000	\$20.000	\$29,500.00	
1	W. W. CLYDE & CO.			\$8.190	\$12,080.25	-59.1%
2	FANN CONTRACTING, INC			\$20.000	\$29,500.00	+0.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$14.000	\$20,650.00	-30.0%
4	GRANITE CONSTRUCTION COMPANY			\$13.000	\$19,175.00	-35.0%
8040001	CU.YD.	TOPSOIL				
Bid Rank	Department Estimate		20.000	\$50.000	\$1,000.00	
1	W. W. CLYDE & CO.			\$174.640	\$3,492.80	+249.3%
2	FANN CONTRACTING, INC			\$210.000	\$4,200.00	+320.0%

*** Bid Tabs for Proposal Pamphlet 2025031 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
8040001	CU.YD.	TOPSOIL				
Bid Rank	Department Estimate		20.000	\$50.000	\$1,000.00	
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$110.000	\$2,200.00	+120.0%
4	GRANITE CONSTRUCTION COMPANY			\$125.000	\$2,500.00	+150.0%
8050003	ACRE	SEEDING (CLASS II)				
Bid Rank	Department Estimate		1.000	\$7,000.000	\$7,000.00	
1	W. W. CLYDE & CO.			\$9,170.620	\$9,170.62	+31.0%
2	FANN CONTRACTING, INC			\$8,800.000	\$8,800.00	+25.7%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$13,000.000	\$13,000.00	+85.7%
4	GRANITE CONSTRUCTION COMPANY			\$7,800.000	\$7,800.00	+11.4%
8080645	EACH	RESET WATER METER BOX				
Bid Rank	Department Estimate		10.000	\$1,500.000	\$15,000.00	
1	W. W. CLYDE & CO.			\$1,136.900	\$11,369.00	-24.2%
2	FANN CONTRACTING, INC			\$2,200.000	\$22,000.00	+46.7%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$1,034.050	\$10,340.50	-31.1%
4	GRANITE CONSTRUCTION COMPANY			\$600.000	\$6,000.00	-60.0%
8080646	EACH	RESET FRAME AND COVER FOR VALVE BOX				
Bid Rank	Department Estimate		21.000	\$1,250.000	\$26,250.00	
1	W. W. CLYDE & CO.			\$1,733.430	\$36,402.03	+38.7%
2	FANN CONTRACTING, INC			\$1,200.000	\$25,200.00	-4.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$1,238.520	\$26,008.92	-0.9%
4	GRANITE CONSTRUCTION COMPANY			\$1,100.000	\$23,100.00	-12.0%
8082845	EACH	MANHOLE (WATER VAULT - ADJUST TO GRADE)				
Bid Rank	Department Estimate		1.000	\$2,000.000	\$2,000.00	
1	W. W. CLYDE & CO.			\$3,885.090	\$3,885.09	+94.3%
2	FANN CONTRACTING, INC			\$1,400.000	\$1,400.00	-30.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$1,119.340	\$1,119.34	-44.0%
4	GRANITE CONSTRUCTION COMPANY			\$2,900.000	\$2,900.00	+45.0%
8091114	EACH	MANHOLE, SANITARY SEWER (ADJUST TO GRADE)				
Bid Rank	Department Estimate		17.000	\$1,200.000	\$20,400.00	
1	W. W. CLYDE & CO.			\$2,208.900	\$37,551.30	+84.1%
2	FANN CONTRACTING, INC			\$1,400.000	\$23,800.00	+16.7%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$682.490	\$11,602.33	-43.1%
4	GRANITE CONSTRUCTION COMPANY			\$1,750.000	\$29,750.00	+45.8%
8101021	L.FT.	EROSION CONTROL (WATTLES) (9")				
Bid Rank	Department Estimate		1,000.000	\$5.000	\$5,000.00	
1	W. W. CLYDE & CO.			\$4.700	\$4,700.00	-6.0%
2	FANN CONTRACTING, INC			\$5.000	\$5,000.00	+0.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$8.120	\$8,120.00	+62.4%

*** Bid Tabs for Proposal Pamphlet 2025031 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
8101021	L.FT.	EROSION CONTROL (WATTLES) (9")				
Bid Rank	Department Estimate		1,000.000	\$5.000	\$5,000.00	
4	GRANITE CONSTRUCTION COMPANY			\$6.000	\$6,000.00	+20.0%
8101030	SQ.YD.	EROSION CONTROL (CATCH BASIN / DOWNDRAIN INLET TEMPORARY FABRIC FILTER)				
Bid Rank	Department Estimate		100.000	\$100.000	\$10,000.00	
1	W. W. CLYDE & CO.			\$71.810	\$7,181.00	-28.2%
2	FANN CONTRACTING, INC			\$17.000	\$1,700.00	-83.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$11.680	\$1,168.00	-88.3%
4	GRANITE CONSTRUCTION COMPANY			\$49.000	\$4,900.00	-51.0%
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department Estimate		1.000	\$650,000.000	\$650,000.00	
1	W. W. CLYDE & CO.			\$488,620.000	\$488,620.00	-24.8%
2	FANN CONTRACTING, INC			\$624,560.400	\$624,560.40	-3.9%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$680,000.000	\$680,000.00	+4.6%
4	GRANITE CONSTRUCTION COMPANY			\$854,363.380	\$854,363.38	+31.4%
9050005	L.FT.	GUARD RAIL, W-BEAM, SINGLE FACE (MASH)				
Bid Rank	Department Estimate		75.000	\$100.000	\$7,500.00	
1	W. W. CLYDE & CO.			\$64.320	\$4,824.00	-35.7%
2	FANN CONTRACTING, INC			\$65.000	\$4,875.00	-35.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$58.420	\$4,381.50	-41.6%
4	GRANITE CONSTRUCTION COMPANY			\$63.000	\$4,725.00	-37.0%
9050025	EACH	GUARD RAIL TERMINAL (MASH)				
Bid Rank	Department Estimate		2.000	\$6,000.000	\$12,000.00	
1	W. W. CLYDE & CO.			\$6,431.920	\$12,863.84	+7.2%
2	FANN CONTRACTING, INC			\$7,000.000	\$14,000.00	+16.7%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$5,842.070	\$11,684.14	-2.6%
4	GRANITE CONSTRUCTION COMPANY			\$6,300.000	\$12,600.00	+5.0%
9050419	EACH	GUARD RAIL TRANSITION (C-10.30)				
Bid Rank	Department Estimate		2.000	\$6,500.000	\$13,000.00	
1	W. W. CLYDE & CO.			\$6,431.920	\$12,863.84	-1.0%
2	FANN CONTRACTING, INC			\$7,000.000	\$14,000.00	+7.7%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$5,842.070	\$11,684.14	-10.1%
4	GRANITE CONSTRUCTION COMPANY			\$6,300.000	\$12,600.00	-3.1%
9080084	L.FT.	CONCRETE CURB AND GUTTER (TYPE F,MAG DET. 220-2)				
Bid Rank	Department Estimate		112.000	\$50.000	\$5,600.00	
1	W. W. CLYDE & CO.			\$54.280	\$6,079.36	+8.6%
2	FANN CONTRACTING, INC			\$85.000	\$9,520.00	+70.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$64.780	\$7,255.36	+29.6%
4	GRANITE CONSTRUCTION COMPANY			\$136.000	\$15,232.00	+172.0%

*** Bid Tabs for Proposal Pamphlet 2025031 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9080086	L.FT.	CONCRETE CURB AND GUTTER (C-05.10) (TYPE D)				
Bid Rank	Department Estimate		5,456.000	\$50.000	\$272,800.00	
1	W. W. CLYDE & CO.			\$45.470	\$248,084.32	-9.1%
2	FANN CONTRACTING, INC			\$55.000	\$300,080.00	+10.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$41.080	\$224,132.48	-17.8%
4	GRANITE CONSTRUCTION COMPANY			\$128.500	\$701,096.00	+157.0%
9080103	L.FT.	CONCRETE CURB AND GUTTER, TYPE C (MAG DET. 220-1)				
Bid Rank	Department Estimate		85.000	\$55.000	\$4,675.00	
1	W. W. CLYDE & CO.			\$39.830	\$3,385.55	-27.6%
2	FANN CONTRACTING, INC			\$85.000	\$7,225.00	+54.5%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$80.280	\$6,823.80	+46.0%
4	GRANITE CONSTRUCTION COMPANY			\$141.000	\$11,985.00	+156.4%
9080134	SQ.FT.	CONCRETE VALLEY GUTTER (C-05.10 MODIFIED)				
Bid Rank	Department Estimate		1,759.000	\$25.000	\$43,975.00	
1	W. W. CLYDE & CO.			\$33.740	\$59,348.66	+35.0%
2	FANN CONTRACTING, INC			\$25.000	\$43,975.00	+0.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$17.730	\$31,187.07	-29.1%
4	GRANITE CONSTRUCTION COMPANY			\$43.000	\$75,637.00	+72.0%
9080201	SQ.FT.	CONCRETE SIDEWALK (C-05.20)				
Bid Rank	Department Estimate		22,065.000	\$15.000	\$330,975.00	
1	W. W. CLYDE & CO.			\$12.140	\$267,869.10	-19.1%
2	FANN CONTRACTING, INC			\$15.500	\$342,007.50	+3.3%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$7.880	\$173,872.20	-47.5%
4	GRANITE CONSTRUCTION COMPANY			\$24.000	\$529,560.00	+60.0%
9080288	EACH	CONCRETE SIDEWALK RAMP (C-05.30, TYPE A)				
Bid Rank	Department Estimate		16.000	\$4,500.000	\$72,000.00	
1	W. W. CLYDE & CO.			\$3,755.280	\$60,084.48	-16.5%
2	FANN CONTRACTING, INC			\$7,500.000	\$120,000.00	+66.7%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$5,750.000	\$92,000.00	+27.8%
4	GRANITE CONSTRUCTION COMPANY			\$6,200.000	\$99,200.00	+37.8%
9080289	EACH	CONCRETE SIDEWALK RAMP (C-05.30, TYPE E)				
Bid Rank	Department Estimate		1.000	\$5,000.000	\$5,000.00	
1	W. W. CLYDE & CO.			\$4,774.130	\$4,774.13	-4.5%
2	FANN CONTRACTING, INC			\$5,500.000	\$5,500.00	+10.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$7,400.000	\$7,400.00	+48.0%
4	GRANITE CONSTRUCTION COMPANY			\$7,130.000	\$7,130.00	+42.6%
9080290	EACH	CONCRETE SIDEWALK RAMP (SPECIAL DETAIL)				
Bid Rank	Department Estimate		2.000	\$6,000.000	\$12,000.00	
1	W. W. CLYDE & CO.			\$4,208.120	\$8,416.24	-29.9%

*** Bid Tabs for Proposal Pamphlet 2025031 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9080290	EACH	CONCRETE SIDEWALK RAMP (SPECIAL DETAIL)				
Bid Rank	Department Estimate		2.000	\$6,000.000	\$12,000.00	
1	FANN CONTRACTING, INC			\$5,500.000	\$11,000.00	-8.3%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$4,850.000	\$9,700.00	-19.2%
4	GRANITE CONSTRUCTION COMPANY			\$4,800.000	\$9,600.00	-20.0%
9080296	EACH	CONCRETE SIDEWALK RAMP (C-05.30, TYPE B)				
Bid Rank	Department Estimate		36.000	\$4,500.000	\$162,000.00	
1	W. W. CLYDE & CO.			\$1,702.040	\$61,273.44	-62.2%
2	FANN CONTRACTING, INC			\$5,500.000	\$198,000.00	+22.2%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$5,750.000	\$207,000.00	+27.8%
4	GRANITE CONSTRUCTION COMPANY			\$4,000.000	\$144,000.00	-11.1%
9080301	SQ.FT.	CONCRETE DRIVEWAY (C-05.20)				
Bid Rank	Department Estimate		17,133.000	\$18.000	\$308,394.00	
1	W. W. CLYDE & CO.			\$15.210	\$260,592.93	-15.5%
2	FANN CONTRACTING, INC			\$18.000	\$308,394.00	+0.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$12.310	\$210,907.23	-31.6%
4	GRANITE CONSTRUCTION COMPANY			\$27.000	\$462,591.00	+50.0%
9230003	HOUR	ON-THE-JOB TRAINING WITH GOALS				
Bid Rank	Department Estimate		600.000	\$3.000	\$1,800.00	
1	W. W. CLYDE & CO.			\$3.000	\$1,800.00	+0.0%
2	FANN CONTRACTING, INC			\$3.000	\$1,800.00	+0.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$3.000	\$1,800.00	+0.0%
4	GRANITE CONSTRUCTION COMPANY			\$3.000	\$1,800.00	+0.0%
9240011	L.SUM	FORCE ACCOUNT WORK (BIOLOGIST AND WILDLIFE REHABILITATOR)				
Bid Rank	Department Estimate		1.000	\$5,000.000	\$5,000.00	
1	W. W. CLYDE & CO.			\$5,000.000	\$5,000.00	+0.0%
2	FANN CONTRACTING, INC			\$5,000.000	\$5,000.00	+0.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$5,000.000	\$5,000.00	+0.0%
4	GRANITE CONSTRUCTION COMPANY			\$5,000.000	\$5,000.00	+0.0%
9240170	L.SUM	CONTRACTOR QUALITY CONTROL				
Bid Rank	Department Estimate		1.000	\$75,000.000	\$75,000.00	
1	W. W. CLYDE & CO.			\$162,852.170	\$162,852.17	+117.1%
2	FANN CONTRACTING, INC			\$210,000.000	\$210,000.00	+180.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$395,000.000	\$395,000.00	+426.7%
4	GRANITE CONSTRUCTION COMPANY			\$245,000.000	\$245,000.00	+226.7%
9240181	SQ.YD.	MISCELLANEOUS WORK (CONTROL OF NOXIOUS PLANTS)(MANUAL / MECHANICAL METHODS)				
Bid Rank	Department Estimate		1,300.000	\$1.000	\$1,300.00	
1	W. W. CLYDE & CO.			\$5.790	\$7,527.00	+479.0%
2	FANN CONTRACTING, INC			\$2.000	\$2,600.00	+100.0%

*** Bid Tabs for Proposal Pamphlet 2025031 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240181	SQ.YD.	MISCELLANEOUS WORK (CONTROL OF NOXIOUS PLANTS)(MANUAL / MECHANICAL METHODS)				
Bid Rank	Department Estimate		1,300.000	\$1.000	\$1,300.00	
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$4.500	\$5,850.00	+350.0%
4	GRANITE CONSTRUCTION COMPANY			\$6.400	\$8,320.00	+540.0%
9240182	SQ.YD.	MISCELLANEOUS WORK (CONTROL OF NOXIOUS PLANTS)(HERBICIDE)				
Bid Rank	Department Estimate		1,600.000	\$1.000	\$1,600.00	
1	W. W. CLYDE & CO.			\$5.150	\$8,240.00	+415.0%
2	FANN CONTRACTING, INC			\$2.000	\$3,200.00	+100.0%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$3.520	\$5,632.00	+252.0%
4	GRANITE CONSTRUCTION COMPANY			\$0.420	\$672.00	-58.0%
9250001	L.SUM	CONSTRUCTION SURVEYING AND LAYOUT				
Bid Rank	Department Estimate		1.000	\$80,000.000	\$80,000.00	
1	W. W. CLYDE & CO.			\$71,548.590	\$71,548.59	-10.6%
2	FANN CONTRACTING, INC			\$131,500.000	\$131,500.00	+64.4%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$359,000.000	\$359,000.00	+348.8%
4	GRANITE CONSTRUCTION COMPANY			\$152,000.000	\$152,000.00	+90.0%
9280036	L.FT.	GROUND-IN RUMBLE STRIP (8 INCH)				
Bid Rank	Department Estimate		4,689.000	\$0.750	\$3,516.75	
1	W. W. CLYDE & CO.			\$1.930	\$9,049.77	+157.3%
2	FANN CONTRACTING, INC			\$1.000	\$4,689.00	+33.3%
3	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.980	\$4,595.22	+30.7%
4	GRANITE CONSTRUCTION COMPANY			\$1.400	\$6,564.60	+86.7%